MOST & SCHNEID, P.C. 222 Bloomingdale Road Suite 302 White Plains, NY 10605

Invoice submitted to:

Allan Kassenoff c/o Dimopoulos & Bruggemann 73 Main Street Tuckahoe, NY 10707

Catherine Kassinoff c/o Harold Salant Strassfield & Spielberg 81 Main Street, Suite 205 White Plains NY 10601

July 01, 2020

Invoice # 23362

Professional Services

	Hrs/Rate	Amount
6/1/2020 - CWM Read and Review review of Gus' email to Jill	0.10 400.00/hr	40.00
- CWM Read and Respond to E-mail respond to email from Alyson regarding Abrams'	0.10 ??? date 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email from Allan regarding pediatrician 	0.10 n 400.00/hr	40.00
CWM Read and Review review of email from Catherine	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email from Allan 	0.10 400.00/hr	40.00
- CWM Read and Review review of two emails from Catherine	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to emails from Allan 	0.10 400.00/hr	40.00
- CWM Telephone Call from Allan	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email from Allan regarding pediatrician 	0.10 n 400.00/hr	40.00
- CWM Telephone Call to Jill (left message)	0.10 400.00/hr	40.00

			Hrs/Rate	Amount
6/1/2020 -	CWM	Telephone Call from Jill	0.40 400.00/hr	160.00
-	CWM	Telephone Call to Carmen Candalario	0.40 400.00/hr	160.00
-	CWM	Read and Respond to E-mail respond to email from Alyson and Gus	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email from Alyson regarding Abrams' raw data	0.10 400.00/hr	40.00
6/3/2020 -	CWM	Telephone Call from Carmen Candalario regarding zoom and chat	0.10 400.00/hr	40.00
6/4/2020 -	CWM	Telephone Call to Susan Adler (left message)	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Carmen Candalario	0.30 400.00/hr	120.00
-	CWM	Telephone Call from Susan Adler	0.30 400.00/hr	120.00
-	CWM	Telephone Second call from Susan Adler	0.30 400.00/hr	120.00
-	CWM	Telephone Call to Susan Adler regarding session on Friday	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Gus to Alyson regarding order	0.10 400.00/hr	40.00
-	CWM	Read and Review review of six emails from Gus and Allan	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to emails from Alan	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Catherine regarding violin	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Carmen Candalario	0.10 400.00/hr	40.00
-	CWM	Read and Review review of letter from Jill Spielberg	0.10 400.00/hr	40.00
-	CWM	Read and Review review of five messages from Allan, Catherine and Jill Spielberg regarding endocronologist	0.10 400.00/hr	40.00

		Hrs/Rate	Amount
6/5/2020 - CWM	Telephone Call to Susan Adler	0.40 400.00/hr	160.00
- CWM	Read and Respond to E-mail respond to email from Alyson Kuritzy regarding Abrams' file	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Allan	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Catherine	0.10 400.00/hr	40.00
- CWM	Appearance in Court Skype court appearance	1.00 400.00/hr	400.00
- CWM	Read and Respond to E-mail respond to email from Carmen Candalario	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Gus	0.10 400.00/hr	40.00
- CWM	Read and Review review of several emails from Allan and Gus	0.10 400.00/hr	40.00
6/8/2020 - CWM	Telephone Call to Carmen Candalario	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Gus	0.10 400.00/hr	40.00
- CWM	Telephone Call to McGullog	0.30 400.00/hr	120.00
6/9/2020 - CWM	Email Correspondence email to Allan regarding payment to Susan Adler	0.10 400.00/hr	40.00
- CWM	Telephone Call to Lori Marton	0.20 400.00/hr	80.00
6/10/2020 - CWM	Read and Respond to E-mail respond to email from Shari Clemmons	400.00/hr	NO CHARGE
- CWM	Telephone Call from Carmen Candalario	0.20 400.00/hr	80.00
- CWM	Telephone Call from Gus Dimopolous and Shari Clemmons	1.10 400.00/hr	440.00
- CWM	Read and Respond to E-mail respond to email from Gus	0.10 400.00/hr	40.00

		Hrs/Rate	Amount
6/10/2020 - CWM Read at review of	and Review of subpoena to Dr. Abrams	0.10 400.00/hr	40.00
- CWM Telepho Call fro	one m Gus and Clemmons	1.10 400.00/hr	440.00
	and Respond to E-mail d to email from Gus	0.10 400.00/hr	40.00
- CWM Read at review of	and Review of subpoena to Dr. Abrams	0.10 400.00/hr	40.00
	and Respond to E-mail d to email from Allan	0.10 400.00/hr	40.00
- CWM Telepho Call to A		0.20 400.00/hr	80.00
	and Respond to E-mail d to email regarding CPS	0.10 400.00/hr	40.00
- CWM Read a	and Review of emails from Catherine and Allan	0.10 400.00/hr	40.00
- CWM Read a	and Review of email from Catherine to Allan	0.10 400.00/hr	40.00
- CWM Telepho Call to 0	one Carmen Candalario	0.10 400.00/hr	40.00
	and Respond to E-mail d to email from Allan	0.10 400.00/hr	40.00
- CWM Telepho Call to A		0.20 400.00/hr	80.00
	and Respond to E-mail d to email regarding CPS	0.10 400.00/hr	40.00
- CWM Read a	and Review of emails from Catherine and Allan	0.10 400.00/hr	40.00
6/12/2020 - CWM Read at review of	and Review of emails from Catherine; email to Jill Spielberg	0.10 400.00/hr	40.00
	and Respond to E-mail d to email from Carmen Candalario	0.10 400.00/hr	40.00
- CWM Read at review of	and Review of multiple emails regarding phones for children	0.10 400.00/hr	40.00

	Hrs/Rate	Amount
6/12/2020 - CWM Read and Review review of multiple emails from Catherine to Allan regarding endocronologist	0.10 400.00/hr	40.00
 CWM Read and Review review of email from Catherine regarding Hoff 	0.10 400.00/hr	40.00
6/13/2020 - CWM Read and Review review of multiple emails regarding Mother's Day Cards (x10)	0.20 400.00/hr	80.00
 CWM Read and Respond to E-mail respond to email from Jill regarding parking at home 	0.10 400.00/hr	40.00
6/14/2020 - CWM Read and Respond to E-mail respond to email from Jill regarding Dr. Adler	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email regarding adjournment 	0.10 400.00/hr	40.00
6/16/2020 - CWM Read and Review review of email from Dr. Adler	0.10 400.00/hr	40.00
 CWM Read and Review review of two emails from Catherine and Allan; Review of emails from Gus and Allan 	0.10 400.00/hr	40.00
- CWM Telephone Call to Carmen Candalario	0.10 400.00/hr	40.00
- CWM Telephone Call to Carmen Candalario	0.10 400.00/hr	40.00
- CWM Read and Review review of letter to court from Gus	0.10 400.00/hr	40.00
- CWM Read and Review review of email from Allan and Carmen	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to emails regarding subpoena for Gus and Jill regarding Abrams file 	0.10 400.00/hr	40.00
- CWM Read and Review review of letter from Jill to court	0.10 400.00/hr	40.00
- CWM Telephone Call to Susan Adler	0.20 400.00/hr	80.00
- CWM Preparation preparation for court appearance	0.30 400.00/hr	120.00

			Hrs/Rate	Amount
6/16/2020 -	CWM	Appearance in Court Skype court appearance before Judge Koba	1.30 400.00/hr	520.00
6/17/2020 -	CWM	Email Correspondence email to counsel regarding supervision (x2)	0.30 400.00/hr	120.00
-	CWM	Telephone Call to CFS	0.10 400.00/hr	40.00
-	CWM	Telephone Call to NYS Office of Children Services	0.10 400.00/hr	40.00
-	CWM	Telephone Call to supervised services	0.10 400.00/hr	40.00
-	CWM	Email Correspondence email to counsel	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Viola supervision access	0.20 400.00/hr	80.00
-	CWM	Email Correspondence email to counsel	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Carmen Candalario	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Allan	0.10 400.00/hr	40.00
6/18/2020 -	dd	Read and Review Download, review and save uploaded documents for Carol Most.	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Jill regarding passports; Allyson regarding passports; Jill regarding passports	0.10 400.00/hr	40.00
-	CWM	Read and Review review of letter to court from Gus	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email from supervised services	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email from Gus regarding supervised services	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Gus to counsel regarding supervised therapists	0.10 400.00/hr	40.00

	Hrs/Rate	Amount
6/19/2020 - CWM Telephone call from supervisor	0.30 400.00/hr	120.00
- CWM Read and Review review of CV for Ashley Rosario	0.20 400.00/hr	80.00
- CWM Email Correspondence email to Gus and Jill	0.10 400.00/hr	40.00
 CWM Read and Review review of multiple emails from Catherine and Jill 	0.10 400.00/hr	40.00
- CWM Letter Review of multiple emails from Catherine and Jill	0.10 400.00/hr	40.00
 CWM Read and Review review of email from Dr. Abrams to court 	0.10 400.00/hr	40.00
6/20/2020 - CWM Read and Review review of multiple emails from Jill and Gus	0.40 400.00/hr	160.00
6/22/2020 - CWM Read and Respond to E-mail respond to email from Jill	0.10 400.00/hr	40.00
 CWM Read and Review review of letter to court with multiple attachments 	0.10 400.00/hr	40.00
- CWM Read and Review review of email from Gus	0.10 400.00/hr	40.00
- CWM Read and Review review of emails from Gus to Jill	0.10 400.00/hr	40.00
 CWM Read and Review review of email from Jill regarding missed visit 	0.10 400.00/hr	40.00
 CWM Read and Review review of email from Allan regarding FASNY 	0.10 400.00/hr	40.00
- CWM Read and Review review of emails from Jill and Gus	0.10 400.00/hr	40.00
6/23/2020 - CWM Appearance in Court Skype Court appearance	1.00 400.00/hr	400.00
6/24/2020 - CWM Read and Review review of email from Catherine and Allan and Gus to Jill	0.10 400.00/hr	40.00
- CWM Read and Review review of email from Dr Adler	0.10 400.00/hr	40.00

	Hrs/Rate	Amount
6/24/2020 - CWM Read and Respond to E-mail respond to email from Catherine and response to Jill's email	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email from Allan regarding past of Catherine 	0.10 400.00/hr	40.00
 CWM Read and Review review of subpoena to Carmen Candalario 	0.10 400.00/hr	40.00
- CWM Read and Respond to E-mail respond to email from Carlos Malave, Supervision Services	0.10 400.00/hr	40.00
- CWM Read and Review review of letter to court from father	0.10 400.00/hr	40.00
6/25/2020 - CWM Read and Review review of email from Alyson	0.10 400.00/hr	40.00
- CWM Telephone Call from Voila regarding supervision	0.10 400.00/hr	40.00
- CWM Email Correspondence email to counsel	0.10 400.00/hr	40.00
- CWM Email Correspondence email to Carlos Malave	0.10 400.00/hr	40.00
- CWM Telephone Call from Carmen Candalario	0.10 400.00/hr	40.00
6/26/2020 - CWM Appearance in Court Appearance in Westchester County Supreme Court by Skype	1.20 400.00/hr	480.00
- CWM Telephone Call from Gus	0.20 400.00/hr	80.00
- CWM Read and Review review of letter to court from Jill	0.10 400.00/hr	40.00
6/27/2020 - CWM Read and Respond to E-mail respond to supervised visitation	0.10 400.00/hr	40.00
6/28/2020 - CWM Read and Review review of two emails from Allan	0.10 400.00/hr	40.00
CWM Read and Respond to E-mail respond to email from Gus	0.10 400.00/hr	40.00
6/29/2020 - CWM Telephone Call to Allan	0.10 400.00/hr	40.00

	Hrs/Rate	Amount
6/29/2020 - CWM Appearance in Court Appearance in Westchester County Supreme Court by Skype	0.60 400.00/hr	240.00
- CWM Read and Review review of emails from Jill and Gus	0.10 400.00/hr	40.00
- CWM Telephone Call from Jill (left message)	0.10 400.00/hr	40.00
- CWM Telephone Call to Dr. Adler	0.20 400.00/hr	80.00
- CWM Telephone Call to McGuffog (left message)	0.10 400.00/hr	40.00
- CWM Telephone Call to Viola regarding visit	0.10 400.00/hr	40.00
 CWM Read and Respond to E-mail respond to email from Viola regarding next week's access 	0.10 400.00/hr	40.00
6/30/2020 - CWM Telephone Call from McGriffney	0.20 400.00/hr	80.00
- CWM Telephone Call from Catherine	0.30 400.00/hr	120.00
- CWM Read and Review review of report cards	0.10 400.00/hr	40.00
- CWM Read and Review review of supervisor report	0.10 400.00/hr	40.00
- CWM Email Correspondence email to court with report	0.10 400.00/hr	40.00
CWM Preparation preparation for trial	4.80 400.00/hr	1,920.00
For professional services rendered	29.10	\$11,640.00
Previous balance		\$81,298.18
6/18/2020 Payment from Father - Thank You		(\$50,000.00)
Total payments and adjustments		(\$50,000.00)
Balance due		\$42,938.18

Please review this bill carefully. Payment is due upon receipt. If you would like to discuss any part of this bill, please contact this office within 10 days of receipt. If no objection to the bill as presented is made by you within 10 days, it will be deemed accurate and correct.

If monthly payments are not made on an unpaid balance, we reserve the right to add interest as per our retainer agreement.

Any payments that do not appear on this bill will be reflected on your next billing statement.

WE ARE PLEASED TO OFFER THE CONVENIENCE OF PAYING BY CREDIT CARD. WE ACCEPT MASTERCARD, VISA OR AMERICAN EXPRESS. PLEASE CONTACT OUR OFFICE FOR MORE INFORMATION.